
Data Sufficiency Questions
Question: Answer questions A to D using the following data-

A. If data in the statement I alone is sufficient to answer the question.
B. If data in statement II alone is sufficient to answer the question.
C. If data either in the statement I alone or statement II alone are sufficient to answer the

question.
D. If data given in both I & II together are not sufficient to answer the question.
E. If data in both statements I & II together are necessary to answer  the question.

A. If the current year is 2020, In which year was Siddhant born?
Statement I: Siddhant is 6 years older than Raghav.
Statement II: Raghav is born in 1982.

1. B
2. A
3. D
4. E

B. How much money was invested by Aman?
Statement I: Total amount received by Bhavesh  after 3 years is Rs.4800 at compound interest.
Statement II: Bhavesh and Aman invested their amount at the rate of 15% per annum.

1. A
2. E
3. B
4. C
5. D

C. Number of males from village Sikori in all the years together is what percent of the total
number of employees from village Sikori in all the years together?
Statement I: Total number of employees from village Sikori in 2017 is 280 and the ratio of the
number of males to females from Sikori in 2017 is 4: 3.
Statement II: 60% of the total number of employees from village Sikori in 2014 to 2017 is males.

1. A
2. B
3. C
4. E
5. D

D. Radha at present is 25 years younger to her father.
Statement II: Radhas brother, who was born in 1954, is 25 years younger to his father.

1. A



2. B
3. D
4. C
5. E

E. How is Sarthak related to Siddhi?
Statement I: Sarthak is brother of Meenal. Siddhi is niece of Pooja.
Statement II: Neeraj is Meenal’s uncle and Preeti’s brother

1. A
2. B
3. D
4. C
5. E


